Biology 12 Name: K{g ,/

Protein Synthesis Worksheet Date:
Block
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The molecule represented by «V«Hne,iag\eied Xis
A. DNA. B.tRNA. C. rRNA. \%mea@ﬁf

2) A section of DNA has the following sequence of nitrogenous bases:

CGAT T ACAG
Which of the following sequences would be produced as a-result of transcription?
A. CGTUUTCTG B. GCTAATGTC C.CGAUUACAGI \}CUAAUGUC

3) 1. Uracil bonds with adenine.

2. Complementary bonding between codon and anticodon.
3. DNA unzips.

4. mRNA joins with ribosome.

The correct order of the abo {)Le during protein synthesis is
A.1,2,43 B.1324 ?§3142 D.3,2,1,4

4) Give the location of the following processes in the cell:
i) transcription: yele a,sv&e
ii) translation:) cmto Lopdnl

5) . Due to a mutation, one base pair I{ lost )‘rom a DNA molecule. Describe the effect
this mutation has on the protein being synthesized. ~
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The diagram above shows a part of the process of protein synthesis.
a) Identify the following labeled structures.

Wi Loiont X: RNA

Y: +RVA Z: ding Qe

b) Name the sta%ge of protem synthesis represented by the diagram above.
,M%\{%Q JiaTY - ‘jé’é}:i "‘%/

c) Where in the cell is X synthesized?
%’xk}ii%ﬁé




6)

Three-letter codons of messenger RNA and the amino acids specified by the codons
AAU : CAU T Liatidi GAU . : UAU ;
AAC Asparagine CAC Histidine GAC _f Aspartic acid UAC }Tyrosme
AAA T ‘ CAA i GAA UAA
AAG Lysine CAG} Glutamine GAG} Glutamate UAG} Stop
ACU™ ggu" GCU7 UCU”L
ACC | ; C L ; GCC | ; ucc .
ACA rThreomne COA Proline GCA Alanine UGA Serine
ACG CCG GCG ucaG
AGU | serine CGUT GGU UGY } Cysteine
AGC UGC

CGC | Argini GGC :
rginine - Glycine
AGA " Arginine chgg ggé UGA — Stop
AGG~ - - UGG~ Tryptophan
AUU T - - uuy ;
AUC E—Isoleucine Ccuu GUU UUC}Phenylalamne
: cuc | . GUC .
AUA _ Leucine - Valine
CUA GUA UUA } )

AUG — Methionine CUG. GUG_ UG | Leucine

a) Given the DNA sequence CACGTATGCAAAATT, use the table above to describe
the primary structure of the protein it would transcribe. (Assume initiation has occurred.)
GUGBLAUA ChuuuU AN

r——y gy Gee
b) A strand of DNA has the following bases: CACGGCC , 6 Ceh

If the adenine base was deleted, which amino acids would be coded for?
E”f A. valine, proline B. glycine, alanine C. proline, arginin fD/.jglycine, arginine

P eyl

c) Determine the sequence of amino acids produced by this DNA sequence:

GGAGTTTTC CCUCARAAL
“A. Proline, Valine, Lysine. B. Glycine, Valine, Leucine. O olud  lys

@F’roline, Glutamine, Lysine. D. Glycine, Glutamic acid, Leucine.

d) A tRNA molecule with the anticod(an GCU would be carrying the amino acid

) A valine. B.alanine. C. tyrosine. Pj.}arginine. C oA wenh
GChonh
e) If the code for an amino acid is AGC on the DNA molecule, the anticodon on the

. ARNA would be: ucg v
[r (A)AGC B.TGC C.UCG D.UGC ¢
_f) If the triplet code on a DNA molecule changes from ACT to AGC, the result is called
{ﬁf‘mutation. B. metastasis. C. translation. D. transcription.
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